No. of Printed Pages : 11 CIC-01

CERTIFICATE IN COMPUTING (CIC)

Term-End Examination

~
co June, 2012
r
e )
(=Y CIC-01 : THE CONTEXT
Time : 2 hours Maximum Marks : 100
Note : There are two sections in this paper. Section - A is

compulsory. Answer any three questions from
Section - B.

SECTION-A

1.  Following are the multiple choice questions. Each
question is having four choices, out of which only
one choice is.correct. Find the correct choice. 10x2=20

(a)

(b).
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Which one is the Standard Protocol use for
file transfer on Internet ?

(i) E-mail (i) TFTP

(i) IP (iv) FTP

Pick.the odd man out from the series
2,3,57,11,13,15,17, 19 :

@ 1 (i) 15

(i) 3 (iv) None of the above
Which of the following is a computer based
information system ?

(i) OAS (i) DSS

(iii)y MIS (iv) All of the above
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(d) MACisa
(i) Programming language
(i) Network
(iii) Hardware
(iv) Operating System
e is structured, coherent and
enduring significance.
(i) Information
(i) Data
(iii) Both (i) and (ii)
(iv) Knowledge
(f)  TCP stands for
(i)  Transport Control Protocol
(ii) Transmit Control Protocol
(i) Transmission Control Protocol
(iv) None of the above
(g) To construct a DFD, we do not use :
(i) Arrows
(1) Triangles
(iii) Squares
(iv) Open ended Boxes
(hy ____ is an object oriented
programming language.
(i) COBOL @ cC
(iiiy BASIC (iv) JAVA
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Every instance of a class is called :
(i)  Object

(i)  Variable

(iii) Constant

(iv) None of the above.

() ADT stands for _ .
(i)  Additional Data Type
(i)  Attribute Data Type
(iii) Abstract Data Type
(iv) None of the above
2. What is a difference between ‘Internet’ and
‘Network’” ? What is the role of TCP/IP in
Internet ?
- 3. Draw a flow chart to convert a decimal number

to its corresponding binary number.
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4. (a)
(b)
5 (a)
(b)

}

SECTION-B

Compose the different types of Internet
Connectivity mechanisms.

Prove that for any prime P=5, P?+2 is

composite number.

Where and how the FTP protocol is used ?
Explain its working.

Calculate (step by step) the time complexity
in Big O notation for the following code

segment :

for i=0; isn; i+ +)
{Print £ ("*);

for (i=0; jsn**2; j+ +)
{Print f (" —=");

Sum = i+j;

Print f (“Sum=/.d,”Sum);

Where, all variable are integers.

6. (a)
(b)
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What is OLTP ? Explain its importarice.

Explain the working of a Internet protocol,
which is used for Remote login.
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7. (@)

(b)
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What is web browser ? What are the basic 10
features of web browsers ? Name two
commonly used browsers.

Write short notes on the following : 10
(i) Object Oriented Programming
(i) Expert System
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1. fr=fofad sgfasey squm 1 79 &1 9% 79 &
4 foreq B o @ 30 @& faoey w8l &1 @@

faees 9@ | 10x2=20
(a) 3T W dfas Fmw & fou &9 @ wAsw
HewmraR yga faan sian &2
G 39 (i) TFTP
(i) IP (iv) FTP
(b) @& 2, 3,5 7, 11,13, 15, 17,19 @ faum
o =A
@H 11 @i 15
(i) 3 (iv) ST A 5 TE
(c) fTrfefaa 4 s Freex s g=a1 yonet
2?2
(i) OAS (i) DSS
(iil) MIS (iv) STdF gt
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d) MAC @
()  TEHQYE T
(i) AeTH
(i) FEAA
(iv) FETeA
e) <ifa, dea iR Tl 7o
(i o
(ify B
(i) < (1) W (i)
(iv) ¥
() TCP =1 314 B
(i)  Transport Control Protocol

(ii) Transmit Control Protocol

(iii) Transmission Control Protocol
(iv) SwdEa d &g e |
(g) DED fmfur & fou &0 wim 7&l d €
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(h)

@)

()

o Ry a2
() wEw ) C

(iii) g (iv) <men
A0 1 YA TeA FEww 3

(i) sifvwea

(i) ftadt

(iii) TR

(iv) Sudaa |

ADT %1 &9 3

()  Additional Data Type

(ii)  Attribute Data Type
(iii) Abstract Data Type

(iv) Stl'ﬁaﬁ H w15 T&

2. ‘s‘zﬁz’aﬁi%aa%éw%aw#ﬂ%? EEC AR 1)
TCP/IP =1 a1 yfirer & 7

3.  TUHOS WA H IHF aeTed! fganurt gen & yfigda
FA % fou yare 9@ TRy
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4. (a) ‘ST’ WOSEE fRenfafy & fr=-fre gEd
AR
by Tag =i fFest urgd P=5,% fou P2+2
fafya dem 7
5. (a) FTP TR &l 371 FH W o el @ 2
SGFT HES R BT
(b) Trefelad #ie @ % fou Big O @hdd | w10
Sfeed &1 (e §i9F) 9o Sifaa |

(i=0; i<n; i+ +) & o

{ foroe £ ();

(=0; j=n**2; j+ +) & fou
(o f (=)

AT = i+j;

{ fave £ (A= /.4, 3am;)

STl i afadl qoies ¥
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6. (a) OLTP#IT? 3I% Wew F faa= sifory
(b) T HIIMEAR T hrefaaor GoaEy |

7. (a) SIS FNL? AR F R Fooang
F1 87 AR H WUROE S & fgrany
AR
(b) Tr=fofaa w wfa feoaf fofgu)
() rfueelt wERYA
(i) oy yomeh
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